October 9, 2018

Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street P.O. Box 2319 Toronto, Ontario M4P 1E4

Dear Ms. Walli:

Re: EB-2017-0071 - PUC Distribution Inc. 2018 Rates - Cost Claim of the Consumers Council of Canada

Please find, attached, the Cost Claim of the Consumers Council of Canada ("Council") for the abovereferenced proceeding

Payment should be made directly to the Consumers Council of Canada at the following address:

Consumers Council of Canada 201 – 1920 Yonge Street Toronto, ON M4S 3E2

Attention: Ken Whitehurst, Executive Director

Yours truly,

Julie E. Girvan

Julie E. Girvan

CC: PUC Distribution Inc. John Vellone, BLG



### Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

				embedded in the form to a te and country of initial curi		
741 Cidinis III	ase be in Canadian	donars. Il applicable, s	Rate:	te and country or mittal cur	Country:	
Disbursemen However, onl The cost clai A CV for eac	ts Being Claimed") ly one "Summary o im must be suppor th consultant/analy	is required for each law f Fees and Disbursemen ted by a completed Affi est must be attached un	yer, analyst/consits" covering the davit signed by a less provided to t	ing a "Statement of Fees Be sultant and articling student whole of the party's cost cla representative of the party he Board as prescribed on t n on Cost Awards, itemized	ing Claimed" and a "Statem /paralegal. im should be provided. the Cost Award Tariff.	
ile# EB-	2017-0071		Proc	ess: PUC Distribution - 2	018 Rates	
Party:	Consumers Cou	ncil of Canada		Affiant's Name: Julie G	iirvan	
HST Numbe	r: 14060916	5		HST Rate	Ontario: 13.00%	
		Full Registrant Unregistered Other		Qualifying No Tax	on-Profit	
	(518) TAS		Affida	ıvit		
,		Julie Girvan	, of th	e City/Town of	Toronto	
n the Provi	ince/State of	Ontar	rio	, swea	or or affirm that:	
2. I have exam Claimed", "St B. The attach Disbursement Energy Board L. This cost cl	nined all of the doc atement(s) of Fees ed "Summary of Fe ts Being Claimed" i I process referred t laim does not inclu	cumentation in support Being Claimed" and "St es and Disbursements & nclude only costs incurr o above.	of this cost claim ratement(s) of Dis Being Claimed", " red and time sper one, or time sper	ch have knowledge of the n , including the attached "Su ;bursements Being Claimed Statement(s) of Fees Being at directly for the purposes t, by a person that is an em is.	mmary of Fees and Disburs  , Claimed" and "Statement(s of the Party's participation	) of in the Ontario
Signature o	of Affiant					
Sworn or a	ffirmed before	me at the City/Towr	n of	Toronto		
n the Provi	ince/State of	Ont	ario	, on	(date)	
					found	



### Affidavit and Summary of Fees and Disbursements

File # EB-	2017-0071	- 8	Process:	PUC Distribution - 2018 Rates		
Party:	Party: Consumers Council of Canada					
	Summ	ary of Fe	es and Disburse	ments Being Claimed		
Legal/cons	sultant/other fees	\$	13,587.50			
Disbursem	nents	\$	-			
HST		\$	1,766.38			
<b>Total Cost</b>	Claim	\$	15,353.88			
			Payment Inform	nation		
	Make cheque payable to:	Consu	mers Council o	f Canada		
	Send payment to this address:		201-1920 Yonge Street			
		Toront	o, ON			
		M4S 3				

Attention: Ken Whitehurst, Executive Director



## Detail of Fees and Disbursements Being Claimed

2017-0071		Process: PUC Distribution - 2018 Rates					
Consumers Council of Canada		Service Prov	ider Name: Shelley Grice				
SERVICE PROVIDER TYPE	(check one)	Year Called to Bar					
Legal Counsel			19				
Consultant Analyst			Hourly Rate:	\$290			
For Consultant/Analyst:	CV attach	ed	HST Rate Charged (enter %)	13.0%			
	SERVICE PROVIDER TYPE Legal Counsel Articling Student/Paralegal Consultant Analyst	SERVICE PROVIDER TYPE (check one)  Legal Counsel  Articling Student/Paralegal  Consultant  Analyst	Consumers Council of Canada  Service Prov  Year Called to Bar  Legal Counsel  Articling Student/Paralegal Consultant Analyst	Service Provider Name: Shelley Grice   Year Called to   Completed Years Provider Name: Shelley Grice   Year Called to   Completed Years Provider Name: Shelley Grice   Year Called to   Completed Years Provider Name: Shelley Grice   Year Called to   Completed Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Gompleted Years Provider Name: Shelley Grice   Year Called to   Year Cal			

S	tatement o	of Fe	es Being	Clai	med			
	Hours	Но	urly Rate		Subtotal	HST		Total
Pre-hearing Conference						Contract of the		
Preparation		\$	290.00	\$		\$ -	\$	-
Attendance		\$	290.00	\$	-	\$	\$	-
Technical Conference								
Preparation		\$	290.00	\$	-	\$ -	\$	-
Attendance		\$	290.00	\$	-	\$	\$	250
Interrogatories	- Comme							
Preparation	10.25	\$	290.00	\$	2,972.50	\$ 386.43	\$	3,358.93
Responses	3.25	\$	290.00	\$	942.50	\$ 122.53	\$	1,065.03
Issues Conference		30				 	SUL,	
Preparation		\$	290.00	\$	-	\$ -	S	-
Attendance		\$	290.00	\$	-	\$ -	\$	-
ADR - Settlement Conference						- 8		
Preparation	5.00	\$	290.00	\$	1,450.00	\$ 188.50	\$	1,638.50
Attendance	17.25	\$	290.00	\$	5,002.50	\$ 650.33	S	5,652.83
Proposal Preparation	2.00	\$	290.00	\$	580.00	\$ 75.40	\$	655.40
Argument							vene 7	
Preparation		\$	290.00	\$		\$	\$	
Oral Hearing								
Preparation		\$	290.00	\$		\$	\$	-
Attendance		\$	290.00	\$		\$ -	\$	-
Other Conferences	5.0 P.SS		- B-35-7					
Preparation		\$	290.00	\$	-	\$ -	\$	-
Attendance		\$	290.00	\$		\$	\$	-
Case Management				\$	-	\$ -	\$	
TOTAL SERVICE PROVIDER FEES				\$	10,947.50	\$ 1,423.18	\$	12,370.68

## Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

#### INVOICE # C1801

October 1, 2018

Consumers Council of Canada 201-1920 Yonge Street Toronto, Ontario M4S 3E2

Re:

PUC Distribution Inc. 2018 Electricity Rates

EB-2017-0071

Description	Charge Type	Hours	Rate	Amount
Professional Services of			77.7	
Shelley Grice	Prepare interrogatories	10.25	\$290.00	\$2,972.50
	Review interrogatories	3.25	\$290.00	\$942.50
	Preparation ADR	5.00	\$290.00	\$1,450.00
	Attendance - ADR	17.25	\$290.00	\$5,002.50
	Proposal Preparation	2.00	\$290.00	\$580.00
	Case Management		\$170.00	
Sub-Total				\$10,947.50
HST on Services				\$1,423.18
Disbursements				
HST on Disbursements				
GST # 817042757RT000	01	37.75	TOTAL	\$12,370.68

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice					
PROJECT TIME SHEET	DATE	INVOICE			
EB-2017-0071	2018-10-01	#C1801			
PUC Distribution Inc.					
2018 Electricity Rates - COS					
PROJECT TIME SHEET					

DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2018-07-10	Review & consider application; Prepare interrogatories	Prepare Interrogatories	2.25
2018-07-11	Review & consider application; Review Staff interrogatories; Prepare interrogatories	Prepare Interrogatories	2.00
2018-07-16	Review & consider application; Prepare interrogatories	Prepare Interrogatories	3.00
2018-07-17	Review & consider application; Prepare interrogatories	Prepare Interrogatories	3.00
2018-09-16	Review & consider interrogatory responses	Review Interrogatories	1.75
2018-09-17	018-09-17 Review & consider interrogatory responses		1.50
2018-09-20	Prepare for Settlement Conference; emails; discuss w/J. Girvan	Preparation ADR	5.00
2018-08-21	Attend Settlement Conference	Attendance ADR	7.25
2018-08-22	Attend Settlement Conference	Attendance ADR	7.50
2018-08-23	Attend Settlement Conference; emails	Attendance ADR	2.50
2018-09-04			0.75
2018-09-10	2018-09-10 Review & comment on Settlement Proposal		0.50
2018-09-12	2018-09-12 Conference Call re: Settlement Proposal		0.50
2018-09-13	Final Review of Settlement Proposal	Proposal Preparation	0.25
		Total	37.75



### Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0071		Process: PUC Distribution - 2018 Rates					
Party:	Consumers Council of Canada		Service Pro	vider Name: Julie Girvan				
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years P of Relevant E				
	Legal Counsel			28				
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330			
	For Consultant/Analyst:	CV attach	ned ded within previous 24	HST Rate Charged (enter %)	13.0%			

S	tatement of	of Fe	es Being	Clair	med			
	Hours	Но	urly Rate		Subtotal		HST	Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	-	\$	-	\$
Attendance		\$	330.00	\$		\$	-	\$ -
Technical Conference								
Preparation		\$	330.00	\$		\$		\$
Attendance		\$	330.00	\$	-	\$	-	\$
Interrogatories			and constitution					 United Services
Preparation	5.50	\$	330.00	\$	1,815.00	\$	235.95	\$ 2,050.95
Responses	2.50	\$	330.00	\$	825.00	\$	107.25	\$ 932.25
Issues Conference		315						
Preparation		\$	330.00	\$	-	\$	- %	\$ -
Attendance		\$	330.00	\$	-	\$	-	\$ -
ADR - Settlement Conference								
Preparation		\$	330.00	\$		\$	-	\$
Attendance		\$	330.00	\$	-	\$	-	\$ -
Proposal Preparation		\$	330.00	\$		\$	-	\$ 
Argument								
Preparation		\$	330.00	\$		\$	-	\$ -
Oral Hearing								
Preparation		\$	330.00	\$		\$		\$
Attendance		\$	330.00	\$		\$		\$ 3.4
Other Conferences		0.00						
Preparation		\$	330.00	\$		\$		\$
Attendance		\$	330.00	\$	-	5		\$
Case Management				\$	-	\$	-	\$ -
TOTAL SERVICE PROVIDER FEES				S	2,640.00	Ś	343.20	\$ 2,983.20

### INVOICE

TO: Consumers Council of Canada

201-1920 Yonge Street

Toronto, ON M4S 3E2

#### FROM:

Julie E. Girvan J. E. Girvan Enterprises 62 Hillsdale Avenue East Toronto, Ontario M4S 1T5

GST # 135678944

#### FOR:

Consulting Services Regarding the Ontario Energy Rate Proceeding – PUC Distribution Inc. – EB-2017-0071

#### DATE:

October 7, 2018

DATE	DESCRIPTION OF ACTIVITY	HOURS	P/AT/AR
July 12	Reviewing evidence	3.5	P-Int
July 17	Reviewing evidence, drafting interrogatories	2	P-Int
Aug 17	Reviewing answers	2.5	R-Int
	TOTAL HOURS	8	

8 hours X \$330.00/hour	\$2,640.00
plus 13% HST	\$343.20
TOTAL AMOUNT DUE	\$2,983,20